

매개변수 함수의 2차 미분

(Second derivative of parametric functions)

$$\frac{d^2y}{dx^2}$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left($$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}\right)$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right)$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right)$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$= \frac{d}{dt} \left(\right)$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$= \frac{d}{dt} \left(\frac{dy}{dx}\right)$$

$$\begin{aligned}\frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\ &= \frac{d}{dt} \left(\frac{dy}{dx}\right)\end{aligned}$$

$$\begin{aligned}\frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\ &= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}}\end{aligned}$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{d}{dt} \left(\right)$$

$$\begin{aligned} \frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\ &= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{d}{dt} \left(\frac{dy}{dx} \right) \end{aligned}$$

$$\begin{aligned}\frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\ &= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}} \right)\end{aligned}$$

$$\begin{aligned}\frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\ &= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}} \right)\end{aligned}$$

$$\begin{aligned}\frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\ &= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}}\end{aligned}$$

$$\begin{aligned}
 \frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\
 &= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{d^2y}{dt^2}
 \end{aligned}$$

$$\begin{aligned}
 \frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\
 &= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{d^2y}{dt^2} \cdot
 \end{aligned}$$

$$\begin{aligned}
 \frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\
 &= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{d^2y}{dt^2} \cdot \frac{dx}{dt}
 \end{aligned}$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^3}$$

$$\begin{aligned}
 \frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\
 &= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt}}{\frac{dx}{dt}}
 \end{aligned}$$

$$\begin{aligned}
 \frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\
 &= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^3}
 \end{aligned}$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^3}$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{\frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^2}}{\frac{dx}{dt}}$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{\frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^2}}{\frac{dx}{dt}}$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{\frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^2}}{\frac{dx}{dt}}$$

$$= \frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}$$

$$\begin{aligned}
 \frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\
 &= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{\frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^2}}{\frac{dx}{dt}} \\
 &= \frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^3}
 \end{aligned}$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{\frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^2}}{\frac{dx}{dt}}$$

$$= \frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^3} \quad \therefore$$

$$\begin{aligned}
 \frac{d^2y}{dx^2} &= \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right) \\
 &= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{\frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^2}}{\frac{dx}{dt}} \\
 &= \frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^3} \quad \therefore \frac{d^2y}{dx^2}
 \end{aligned}$$

$$\frac{d^2y}{dx^2} = \frac{d^2}{dx^2}y = \left(\frac{d}{dx}\right)^2 y = \frac{d}{dx} \left(\frac{d}{dx}y\right) = \frac{d}{dx} \left(\frac{dy}{dx}\right)$$

$$= \frac{\frac{d}{dt} \left(\frac{dy}{dx}\right)}{\frac{dx}{dt}} = \frac{\frac{d}{dt} \left(\frac{\frac{dy}{dt}}{\frac{dx}{dt}}\right)}{\frac{dx}{dt}} = \frac{\frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^2}}{\frac{dx}{dt}}$$

$$= \frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^3} \quad \therefore \frac{d^2y}{dx^2} = \frac{\frac{d^2y}{dt^2} \cdot \frac{dx}{dt} - \frac{dy}{dt} \cdot \frac{d^2x}{dt^2}}{\left(\frac{dx}{dt}\right)^3}$$

YouTube: <https://youtu.be/zWkGpD4PHqc>

Click or paste URL into the URL search bar, and you can see a picture moving.